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SANSKRIT
[HONOURS]
Paper : [
Full Marks : 100 Time : 4 Hours
The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any five questions : 1x5=5

@A @A Awf eeam Tew we

a) Give two synonyms of the word
‘e =wioa 1o aforw @

b) What is the meaning of the word
TmE’ 9
ST WAty Wy 2

c) How many kinds of “T0T’s are discussed in

‘Fmssitl’ 2 Name them.

QLY 51@5. (S WAIDS 9l Fo AP 7 O
W eI |

d) Mention alternative names of afd .

gfeq (g awafs Ty 9
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AN

e) Write any two names of the friends of
AR &N IHI AN @Y |
f) Who was ‘WS Jugar ?
‘et JEAT G 9
g)  What is the source of Bhasa’s drama
RS CICEts s Wi
SIOR ‘WHaaredy w6cd oA 9
h)  Who was ‘graassit’ 2
‘gramesRl & ?
Answer any ten questions: 2x10=20

@I weifs 2osa Tex Wi ¢

a)

b)

c)

d)

¢)

Give an example of H=THIHT metre.

ST WA G Swize Wi |
What is the definition of ATfeiHigay?

Wferigrea s Fi e

Distinguish clearly between 3Tgafd and

3.
A1 AfRee o9 ¢ smgafd gar EId

Substitute single words for:

aFom “fade F9 ¢

Tigiest<d, @ Faa
Give the resulting forms:

sifafafie @9 @12 2
o+ gy, 9-38 + eI
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TMA)

)

h)

J)

k)

“IrdATEET HHTOEHT gHTYEEY —Who s

referred to here as AT ? What was the
‘arar 2

What is M1 ? Explain with example.
ALY Fl 2 SwrzRel 72 I F |

“1fr qe foria A gegueRstu et —
Who was referred to here by ‘11357’? Who was
T R (A o

“afr A feuf@  wEraggEeshu
FAEEL: A TG IS I I AR
TG (2

“sraftrave mar M’ —Who was the speaker
here? Which 3I9: was referred to here?
“srafaaye T W@ @ @I MR
AN TN AR QT2

“afe qEed e gemgiiEaa —Whose
dream is referred to here?

“afe aEe wel gemyfdeey) 1 F0AR
A el 2z QI 2

“ydeE @ 2 TumEedr’ —Who was the
speaker? Why did the speaker remark so?
Cvgee W fe gutaeds’ —ael @7 9w
TYAA T F 7
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D

Answer any five questions :

“srer o gedl @dr —Who are referred to
here by ‘31&1’ and W2

“srEn B gEdl @A —sEsy SR (et
OR W IS FMA @RI TR ?

What is =9adt? What is the main feature of
it?

@IS F 2 97 2y @Ry Fe

6x5=30

@-(F A 2 Ted WS

a)

b)

Explain and illustrate (any one):

TrrEaerz. AT ¥R (@ I @3io):

i) wHEREEEY 30 g TEEE: |

i) U@ gl aetead HiEd |
YRTTETfeRrEErafEraq ||

Correct or justify (any two):

W P W@ AN I (A fH):

a) TSI AT 3T |

b) TRY IWA LT [ T e |

¢) W FF gATREIGATEY |

dy T T |

1)  Give the feminine forms (any two):
e @@ @ (@-C@N qi0):
o, 30T, qOd:, T, fogH

i1)  Name and expound the Samasa (any
two):
QPRS2 TR AT (-G )
Tfag:, dzadl, argHaay, g-aidfs:
guayTioT:
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TMA)

- d)

Account for case-endings in any
three of the underlined words :

@ufEs smafar sRe-Refe M 3
(@ @Fwe &)

a) J&: Hod Ui |

b) TEI: TSIY T TUZG 3T |

c) T =y ot |

d) ¥ Ud Yd 9t |

e) ITgalY vaar 9rg, 91y |
Substitute single word : (any three)
GFFAR A T : (A Fe [&afp)
a) girE T

b) i el

¢) Fgamr fafu:

d) ey

e) fomg: g

fy g g ofefa an @

Disjoin the Sandhi (any two) :
SRR ¥ (@A @Ee qb) ¢
gafe, fegmmy, weras:, Famsfd:,
e

[ 3] ‘ [1urin over/

CTSA)

2)

i) Decline (any two) :
e @ (7o) -
Tooil TgHl Ueha=d,
3G TAHT THAH,
fog facfn sga=m,
oy wEt fgaem,
fd gt Twea |

ii1) -/ Conjugate (any two):
argwt el (i)
T AIZ VAR Tehee,
g wemgEy fsaem,
1 e IqEYEY fgaem,
71 fafafae Sangey wewha=H,
ot T YoAYRy aga= |

Define and illustrate any two of the

following metres :

@A @ws ¥fb wrwa TRz e WS
e, JerEsEma, YEfiv, Tergar, e
Explain in Sanskrit : (any one)

MFCS AT T : (@ @I GP0)

i) UM AGHE! 91 TECUgISTd |
TRRITWeTYeaTEs ¥ "adl &t ||
i) evaEdm & 33 i adquragy |
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4.

T5(A)

h)

Translate into English or Bengali- : (any

one)

BLAE ST G He @M R : (A A

a3fh)

i) Tomsy ghonyerremfear Symmayern
FeT: Ykt WGl T SR |
JPrs wiuen Mgaaaraasaen fem
T gt e g & ageE:

i) @1y fafgqamataral srrREHEE =
STHTARHTERRI T R =TeHTIRen

fSeigaE wag: | T wasg
g o @ : l
Answer any three questions: 15%x3=45

@A-@FI foa® 2eww Teg wis ¢
a)

Translate into Sanskrit of the following:

15
S WA T ¢
MEWMA W R AR =L | (B Agfe
T e SHzoNfew F(d | SRIIIEI FIe
e | wifi sffew’, ifi €71, e Faw -
3ol ToiE SRsRIE AT | Sfea 74w
e Sma (A Ssed WA A |
Pride is the most harmful of all the enemies.
External enemies like thieves etc. destroy

wealth, but the internal pride causes down
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b)

d)

fall. The root of pride is prejudice or

discrimination. 'I am a scholar', 'l am rich', 'l
2

- am noble descent' etc. are the signs of vanity.

Conceited person always thinks himself
superior to others.

“%a damEets o’ —Who said this to
whom? What was the context behind this
remark? Discuss the consequence of this
remark. 2+6+7=15
g dgamgEEE e — @, I 99
JEITRCE 2 @kl Tfes apiisre! e amel Sfew
ZOI HCTIb A |

Evaluate the merits and demerits of Dandin's
prose-poetry as prose-poet.

WSl SMBICT @t [ 39|

Compare the characters of Padmavati
and Vasavadatta as depicted in the drama

Svapnavasavadattam of Bhasa?

SICIA FAIPTWGT 5T ST AqITS! S

Al l)l?lﬁu‘lﬂ OEIAETF S0 T |
Explain the appropriateness of the title of
the drama Svapnavasavadattam.
FeATWE AGTOA AT SRR S
A
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